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ST A2/ AN A

M S22 585 29
el MsE3 =2 EER=E)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY

omIIR3 17,000
ool 23 7,200

206 =4I 9,900 10,615 AT15

01 XH=4l 9,900 10,615 AT15
O=ZAIE A=A (20kg) 7L 1,050
OMIIME P (M BHE 2| 635) 1,300
OEHS(SAS)8 L8R 7Y 1,600
O=2+2 It F(HAE ) 1,200
OstslF 2 3,000
Oul=J| 8¢z 7 1,750

HY2HIH|(SMZAIZRIAIZA) 23,320 21,700 1,620

JlI=2dsl 23,320 21,700 1,620

JI=2&Hl 23,320 21,700 1,620

201 L= 13,340 14,820 1,480

01 AF22t2ltl 13,340 14,820 A1,480
O=AEXN 7¢ 1,680
OSADI & T2y 2Z(EU, &) 2,640
OJIEtAIR 22| 9,020

202 04| 1,440 1,440
01 2L AL 1,440 1,440

Oy&Zd& oy 20,0003 6 128 1,440

203 2=l 5,840 5,440 400

02 3R IRHH 2= 1,040 640 400
OIS 40,0003 »26H 1,040

04 RA2ILRFEH 4,800 4,800 0
ORAM2EER=2 400,000&+ 123 4,800

405 KHAHF SH 2,700 2,700

01 TR ESF SHI 2,700 2,700
Oz=H ¢ 2,240
O=ZLd 7¢ 460




